PRZEKROJE POPRZECZNE
SKALA 1:100

Pyt = 1,36 m*

km 0+694 Prosen = 0,00 m?

Lims =4,80m

S L =520m
L =560m

Puyion = 0,00 m?

km 0+721 Prosen = 1,68 m?
Liums =4,90m
L =560m
L. =280m

Puytom = 0,06 m?

km 0+762 Py =3,37 m?
Liwms = 5,80 m
L = 5,60 m
Lo =540m

Puyiom = 0,39 m?
km 0+795 Prosen = 0,46 m?
. Lums =4,10m

‘ Li  =560m
Lo =210m

Puton = 1,87 m?
km 0+833 Prasyn = 0,00 m?
148,09 Lims = 6,20 m

T L = 5,00 m
ﬁﬂ/ L. =520m

P\\'ykopu = 3,67 m?

km 0+880 Prago = 0,00 m*
Lums = 7,40 m
Ls = 5,00 m
Lo =6,00m

Puyion = 0,36 m?

km 0+907 Prosn =0,33 m?
Luuns =4,90 m
Le =5,00m
L =3,60m

Puyion = 1,12 m?

km 0+948 Proson = 0,40 m?
Liums =6,90m
L =500m
L. =620m

Objasnienie:

Puskom - pole wykopu

Puasyps - pole nasypu

Liums - dlugos¢ zdjgcia warstwy humusu
L: - dlugos¢ warstwy $cieralnej

Lo - dlugos¢ skarp



